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Yo(l) :é(Y1 +Y, +..+Y,) :5(8.5+8+...+11.5) =9.89 (0.50)
@=0.5 Js) o

Y.() =(1-o)Y, + oY1) (0.25)

Yi(1)=0.57 +0.57(1) = 0.5x8.5+0.5x9.89 =9.195 =9.20

Y2(1)=0.5Y, +0.571(1) = 0.5x8+0.5x9.2 = 8.6

Y3(1) =0.5% +0.5Y>(1) = 0.5x9+0.5x8.6 =8.8

Y4(1)=0.5Y, +0.573(1) =0.5x10+0.5x8.8 =9.4

Ys(1)=0.5Y, +0.5Y4(1)=0.5x11+0.5x9.4=10.2  (0.75)

Y6(1)=0.5Y, +0.575(1) = 0.5x9+0.5x10.2 =9.6

Y7(1)=0.5Y, +0.5Ys(1)=0.5x12+0.5x9.6 =10.8

Ys(1)=0.5Y,+0.5Y (1) =0.5x10+0.5x10.8 =10.4

Yo(1)=0.5%, +0.5Ys(1) = 0.5x11.5+0.5x10.4 =10.95

w=0.9 Ja

Y1(1)=0.17, +0.9Y (1) = 0.1x8.5+0.9x9.89 =9.751=9.75
Y2(1) =0.1%, + 0.971(1) = 0.1x8+0.9x9.75=9.575 = 9.58
Y3(1)=0.1Y, +0.9Y2(1) = 0.1x9+0.9x9.58 =9.522 = 9.52
Y4(1)=0.1%, +0.9¥3(1) = 0.1x10+0.9%x9.52 =9.568 = 9.57
Ys(1)=0.1%, +0.9Y4(1) = 0.1x11+0.9x9.57=9.713=9.71  (0.75)
Yo(1)=0.17, +0.9Y5(1) = 0.1x9+0.9x9.71 =9.639 = 9.64
Y7(1)=0.1Y, + 0.9Y (1) = 0.1x12+0.9x9.64 = 9.876 = 9.88
Ys(1)=0.1¥,+0.9Y7(1) =0.1x10+0.9x9.88 = 9.892 = 9.89
Yo(1) =0.1%, +0.9Ys(1) = 0.1x11.5+0.9x9.89 = 10.051 = 10.05
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Al Yt ?t ?t £, gt2 g, gtz
1 8.5 9.20 9.75 -0.7 0.49 | -1.25 1.56
2 8 8.6 9.58 -0.6 0.36 | -1.58 | 2.50
3 9 8.8 9.52 0.2 0.04 | -0.52 | 0.27
4 10 9.4 9.57 0.6 0.36 | 0.43 0.18
5 11 10.2 9.71 0.8 0.64 | 1.29 1.66
6 9 9.6 9.64 -0.6 0.36 | -0.64 | 0.41
7 12 10.8 0.88 1.2 1.44 | 2.12 4.49
8 10 10.4 9.89 -0.4 0.16 | 0.11 0.01
9 11.5 | 10.95 10.05 0.55 0.30 | 1.45 2.10
e : : - 4.15 - 13.18
(0.25) (0.25) (0.25) (0.25) | (0.25) | (0.25)
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S, = Ni(}’_j -Y.)* (0.25)

=4x[(316.5-426)" +(380.5—426)" +(701.5-426)* +(305.5-426)"]
=417924 (0.25)

S,=pY (=Y. (029)

= 4x[(337.75-426)" +(396.5—426)* +(449.75—426)* + (520 — 426)*]
=72233.5 (0.25)
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sabilal) Glea .
v, =Sp / p—1=417924/3=139308 (0.25)
V,=S,/N-1=72233.5/3=24077.83 (0.25)
Ve=8,/(p—1)(N-1)=766.5/9=285.17 (0.25)

F =V, |V, =139308/85.17=1635.65 (0.25)

F,=V,/V,=24077.83/85.17=282.70 (0.25)
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(0.25) ZSI- =—88.96-37.04 +268.91+142.37 =285.28 20
i=1

285.28 s
K= =71.32 (0.25) 1NN raaail) Jalaa Jlarid ) acal Allal) o3a b
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116028 | -10836 | 197.59 | 71.05
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(0.25) ZSZ. =-160.28—-108.36+197.59+71.05=0
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(0.25) T =341.649.9¢ :3 ja8al) Astaall (pa alal) slaiDd 4y afil) 4l slay) Likay

T Y Si f f+Si A:Yz_(f"i'Si)
1 | 235 -160.28 351.5 191,22 43,78
2 | 290 -108.36 361.4 253,04 36,96
3 | 611 | 19759 | 371.3 568,89 2,11
4 | 215 71.05 381.2 452,25 -237,25
5 | 290 -160.28 391.1 230,82 59,18
6 | 350 -108.36 401 292,64 57,36
7 | 671 | 19759 | 410.9 608,49 62,51
8 | 275 71.05 420.8 491,85 -216,85
9 | 320 -160.28 430.7 270,42 49,58
10| 411 | 10836 | 4406 332,24 78,76
11| 732 | 19759 | 450.5 648,09 83,91
17| 336 | 7105 | 4604 531,45 195,45
13| 421 | 16028 | 470.3 310,02 110,98
14| 471 | -10836 | 480.2 371,84 99,16
15| 792 | 19759 | 490.1 687,69 104,31
16| 396 | 7105 | 500 571,05 175,05
(0.50) (1) (0.50) (0.75)




